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L5y e t 3.53] 3.46] — 0.52| 0.24] — 0.21] 0.45] — — 0.12| 0.09] — 1.50] 10.10 10
+wb
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+— S fg
vl
wpemo | \MIAUE
BE AJI AN HAN
AsZ B T(HH) FAEBRLEET 22 t=3cm, PK-3 0.650 X 1.0 0.650| ™ 37.57
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PEHIEE = 1.20+0.27 + 0.00 - 0.04 = 1.430 m HEH AR R BRI REA
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PEHIEE = 0.70 + 0.17 + 0.10 - 0.04 = 0.930 m HEH AR R BRI REA
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AsBaEE T Ash'7 95.78 X 0.03 + (350.30 - 95.78) X 0.04 m® 13.054 13
WS AsDib 13.054 X 2.35 t 30.68 31
BEHA 25 5 BHO0.28m3
R, V¥E L 95.78 X 0.01 m’ 0.958 1
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B K A $ 100 DIPH = | - 1 1
BT A 75 DIPMH P —
GXIE GXJ¥ DIP =i %vigrkidt |T~F34 0. 20([ € 1)
TR $ 250X ¢ 150 1@ |0.56 0. 20
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IERELY
B )TV YW T ¢ 75 5] =
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H oo ® z b E ) ‘ T
& B 23
i = Wr | B | % R R & SBHr ) oBR R & B BR R & (c)
— Bl | GX-GX Bl | GX-GX B
% D -c c-D
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JEERR NHV0-32-75S (KRE) {E] 2 1




Bk & B K& Gars7 WERR 73 I52 BERR 53 167 BERRE
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JEEAR ¢ 350 X H70 fii T 4 1 1 1 1
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|
- ! AsTERALER T 0.04 X 235 0.094| ° 0.09
S BN H
\ HEHI T BHO.28m3 .00 X 1.00 X 0.96 0.960] ™ 0.96
\ DT Atf# BHO.28m3FiAL= km
\ A SR T b (B~ {5 i 45) o 0.96
BEH ' At gm0
8 R#ER HIA T N AR g m3
. FHIA BHO.80m3, -4 ({i{#35) /L — R 0.96
1000 R 130 ekt H
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S g 2 #H \ P =
| WLy VY m3 0.17
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HoE A AN
AszEJE T.(H3H) P AR B FET 23y t=3cm, PK-3 1.00 X 1.00 1.000] ™ 1.00
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PR AR SR R HIFA

ERERR O EE L T BH0.28m3, t=15cmBL T m2 100 240 0.42 1.7 0.71
DT 4tFEBHO0.28m3 FEIAL=6.5kn

ASTEIEHE T AshR Ay —ik m3 4 490 0.01 1.7 0.02
2 AR

A ANIE T BHO0.28m3 &> /S5 m2 38 67 0.57 1.7 0.97
e AR SR

FHIA T BH0.80m3, T ({K{&5) L —AX m3 120 116 1.03 1.7 1.75
DT 4tf% BH0.80m3fHIAL=0.5km

A 5 T i (RIES~B15) m3 51 116 0.44 1.7 0.75

<ARAEIA >
AT W=1.8mAil, Fo s E

T A L (T3E) RC-40,t=15cm HijE m2 96 222 0.43 1.7 0.73
AT W=1.8mAil, Fo s

B AR T () M-30.t=1lcm Hij# m2 96 222 0.43 1.7 0.73
ANTIW=1AmASil VB AN

g L (TiH) FAEBRIET 22, t=3cm HLE PK-3 m2 96 250 0.38 1.7 0.65

< AREHZER IR >
Ashithys—

ElZE T T t=15cm¥ET m 150 240 0.63 1.7 1.07
PEHD AR SR BRI A

ERERR R EEL T BH0.28m3, t=15cmEL T m2 350 240 1.46 1.7 2.48
eI AR5 A BHO0.28m3

PRI VHE 1 m3 1 240 1.7
HJH 1.4m<b=3.0m (Fy/a—})

g L (FH) AR T A2 t=4cm m2 350 240 1.46 1.7 2.48

X R ~ AU W=15cm FEHRE m 1300 1.7

N i m2 350
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T o FE) Wi | e | M0 et i 5
TEER | @Rk | A= T4
< X [ > 1500 1.7
DX R 5 | & Al 326 W=0.15cm m 100 1200 0.08 1.7 0.14
DX R 5 | & Al 356 W=0.45cm m 32 600 0.05 1.7 0.09
<R 1>
AR DIP
FREE RS T ¢ 250 m 115.2 76.9 1.5 1.7 2.55
[EX:=55
GXHETF T ¢ 250 u] 21 76.9 0.27 1.7 0.46
FIBEE
GXHETF T ¢ 250 u] 11 76.9 0.14 1.7 0.24
GV
GXHETF T ¢ 250 u] 6 76.9 0.08 1.7 0.14
GX-DIP
FERE B T ¢ 250 A 6 76.9 0.08 1.7 0.14
770 T ¢ 250 7.5K ] 2 76.9 0.03 1.7 0.05
SRR E L ¢ 75 J 2 76.9 0.03 1.7 0.05
770 T ¢ 75 7.5k A 2 76.9 0.03 1.7 0.05
HEIFrEkE T ¢ 250 J 3 76.9 0.04 1.7 0.07
AWK ELRE T ¢ 250X ¢ 250 & Fr 1 76.9 0.01 1.7 0.02
¢ 250
HRT — 7B L W=5cm, 20m/%: m 76.9 1.7
PR R — NI T W=15cm, #'7')V, 50m/%: m 114.5 76.9 1.49 1.7 2.53
HPPE ¢ 150, ¢ 100 76.9 1.7
RlERE
K2V R T ¢ 150 m 9.1 76.9 0.12 1.7 0.2
RlERE
KYFL B T ¢ 100 m 3.3 76.9 0.04 1.7 0.07
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T i gyl HAL | 1EEE o [ — —
TEER | @Rk | A= T4
RlERE
K2V R T ¢ 75 m 76.9 1.7
BE RS Oy b T52350)
K)o F L BT ¢ 150 1 T 76.9 0.03 1.7 0.05
BE RS Oy b T52350)
K)o F L BT ¢ 100 1 T 76.9 0.03 1.7 0.05
BE RS Oy b T52350)
K)o F L BT 675 (EGR 76.9 1.7
RlEES (s 0¥)
KV EHET T ¢ 150 A 76.9 0.03 1.7 0.05
RlEES (s 0¥)
KV EHET T 675 A 76.9 1.7
KYFL BB T ¢ 150 u] 76.9 0.01 1.7 0.02
KYFL BB T ¢ 100 u] 76.9 0.01 1.7 0.02
KYFL BB T 75 u] 76.9 1.7
770 kT T ¢ 100 7.5k ] 76.9 0.03 1.7 0.05
770 T T ¢ 75 7.5k A 76.9 1.7
I E
GXHETF T ¢ 150 u] 76.9 0.03 1.7 0.05
FIBEE
GXHETF T ¢ 100 u] 76.9 0.03 1.7 0.05
HEIFrEkE T ¢ 150 J 76.9 0.01 1.7 0.02
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U ERET F47% 250mm X H150 & FT 100.0 0.04 1.7 0.07
Lyt
HElFrERE L b EEE ¢ 250 X H150 &P 100.0 0.04 1.7 0.07
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HE) s T JEHR ¢ 350 X H70 AT 100.0 0.04 1.7 0.07
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A E T LY ¢ 350 X H50 =BR 100.0 0.02 1.7 0.03
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< TR HEBET > 100.0 1.7
M35
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